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Hy,: =89 HEFEEEASHEHEERETN

_T—p, _949-89

=3.105 t@(S) =2.306

S 0.57 ,
Vn Vo
> 2005 (8) .. P<0.05
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Xx=9.94>89
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5.2 BHREEMFIEN/LE, sEAFRARMAEINSZE
=, —MEREEREER, —HEHHEEZER, 7AEHNE
JLEWRIE, MMEHRERNKKRIERNFEER (hm) 103
Fis, BIAMERERAIRNEETER.
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S | pnEm | Fiblm | EEd] d?
1 12.0| 10.0| 2.0| 4.00
2 14.5| 10.0| 4.5| 20.25
3 15.5| 12.5| 3.0 9.00
4 12.0| 13.0] -1.0| 1.00
5 13.0| 10.0| 3.0| 9.00
6 12.0| 5.5| 6.5| 42.25
7 10.5| 8.5| 2.0| 4.00
8 7.5 6.5 1.0] 1.00
9 9.0/ 5.5 3.5| 12.25
10 15.0| 8.0| 7.0| 49.00
11 13.0| 6.5| 6.5| 42.25
12 10.5| 9.5/ 1.0| 1.00
=15 33% itz 195




Hy:p,=0  FHERESORKSEIREPHERRE

lnl

H,:u,#0 MMEZE ZNR KR AR N ERA

a=005 >.d=39,>d*=195,n=12,f=n-1=11

J:Zd =7 _305

n 12
2
Sd=\/ : [Zdz—(zd) ]:\/1(195—(39)2]:2.4909
n—1 n 12-1 12
d 325
t—S—d— 5 4900 =4.5195
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toos (11) =2.201 ,2,, (11) = 3.106

2 2

t]> 140 (n=1) P<0.01
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H, oty #y, A& NEBEHNHHATF.

t = i B ~t(n, +n,—2)
JSEx(l P
n N,
q2 — (m =18, +(n, = DS,
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> 1405, P <0.05, MFBLEH,, #ZH,, HHFE.
<>, P>0.05, MIEZH,, BHH,, HHHEZ.
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